MAT2705-01/04 05S Quiz 7 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use
arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL
parts of problem. Keep answers EXACT (not decimal approximations, if possible).
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a) The roots of the charaderishc equation for the related homegeneous DEQ are
= —2£12{. Wnte davn the general homaogeneaus sduhorn Yy,

—

b) Starting with the thal parkicuar ﬁ:md'\bn Yp= C3 Cosl2k + (g sinl2t

. backsupstitute 1nto the adhove DEQ. and derve 2. Linear qw:.h'ons needed tv determmne
Cz and C4q. Box i

) Write ddwn the augmented matnx for that (nec system and use tedndlegy to rref
it and then wrte down the result ard from th the sdulion ofthe system and then
Ginally gwve your result for Up ( the correct resuitis Yp= .j((,,g (26 + 3 st (2t —1

d) Now mpose the mihal condthons on the complete sduhon Y= Yntyp +o she
+he nihal value Prbb\cm, q,uo‘“\ng Your flfm\ answer



